SEBA Board Class 10 Maths Previous Year
Question Paper 2018

2018
GENERAL MATHEMATICS

Full Marks : 80
Pass Marks : 24

Time : 3 hours

Candidates shall note that each question will be
multilingual, viz., in English /Assamese /Bengali /
Bodo /Hindi medium, for their ready reference.
In case of any discrepancy or confusion in the
medium /version, the English version
will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.

Take t = 27—2, wherever necessary.
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17 The number of decimal places after which the decimal

€xpansion of the rational number 1:;&8_)8 will terminate is
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hich one of the following is a rational number?
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\V(produet of the zeros of 4u? + 8u is 1

4u? + 8u T [ICILR FRIF 27 -
4u? + Su- G TSR “FOR T

4u? + sy i TlrE R TSI e

4u? + 8u % YA 1 I B B

(a) 4 (b) 8 ¢ 32 (a)~0

nder what condition will ax? +5x+7=0 be a quadratic
equation? |

3 56 T ax? + 5x + 7 = 0 b1 fagre a9 2°3 9
3 ¥ ™ ax? + 5x + 7 = 0 936 Fgre 5N 23 2
W TRTRAE ax? + S5x + 7 = 0 37 HHA ST T9HR SFH?

- T ¥ R W ax? + 5x + 7 = 0 W fama g gm?

(@@ a>0 yra<0 ] a=0 a#0

WBC, /A =90° AB =3 cm, BC=5cm and AD 1 BC. Then
~ the length of AD 1s 1

AABC © L/A=90°, AB=3cm, BC=5cm W& AD| BC %'t
AD 3 v 2’1

AABC-(® 4A:90°, AB =3 cm, BC=5 cm 4R AD.LBC Ll
AD-93 i T3
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AABC | /A =90°, AB =3 cm, BC =5 cm 3 AD | BC @&
AD 1A MeRa s

AABC ®, Z/A=90°, AB=3 cm, BC =5 cm 3R AD | BC @\ AD &
< gm

5 12 5 ~39
(a) -2- (b) = (c) 12 \@/[2—

~

ﬂ distance between the points (1, 0) and (0, 1) is 1

(1, 0) &I (0, 1) RE Trwe =g 27

(1, 0) =% (0, 1) 7 e w3y =

(1, 0) 3 (0, 1) fe=aif Tl ST ST

(1, 0) 3R (0, 1) g % o

(@) 2 (b2 € 1 (d) O

7< The angle of elevation of the top of a tower from a point on the
ground, which is 30 m away from the foot of the tower, is 45°.
The height of the tower is 1

451 B “RE =1 30 i Sreve $fie 2@ b1 R @1 wew Sq o
(1T 45° 2’0 TR Twel 37

wﬁmwﬁjcwsoﬁ%mmmwmaﬁﬁjcwm
et TR @ 45° 77 wE T ]
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At el smmee S g 45°a@m1mtﬁsﬁmmzﬁq

T W F R Y 30 A T vt w o el forg @ wmw % oig
I 45° 3| WA it S8 Befy e

@ 3%m  ® 15m () 10m (d) 60m
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\S/f/the circumference of a circle is 22 cm, then the area of a
quadrant of the circle is

A o1 o1 =R 22 = . =W, ©@='E THOR @G GR] I 27
A @l R <R 22 1. R, =, o 3aba 9l A = =@
I AR sEAt Wriife Remn 22 3. fr. Sw, o et v SER-af

TSATEIET AFTH
7 T g Ry 22 Fo e A, A I 99 K F9-IR M I T TS W
?FTT .
(a —ézch () 77 cm® (¢ %cmz (d) 7T7cm2

\Wickets taken by a bowler in 8 cricket matches are as
follows :

G&H AT 8 4 {FF0 (IeTe w¥e 91 TR0 2N Tore Al 49901
GFE [@Ead 86 Tt (3o wia 331 V3o A e 37 -

8 I 99 8 e T 9l EME ISR SRHET TREE eR M
e -

8 Tpdre Aot ¥ s e g1 WiE Tt i e Fefafaa ® -

3.2.0. 1,6 2,1,2
The mode of the data is

TR I 21
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(@ 3 (b) 6 (c) fd): -1
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10/ The probability of an event ‘B’ + the probability of the event
‘not E’ is 1

WA B’ 3 gl + <1 “E TS el 7'

WA ‘B -9 1Rl + g5 ‘E T’- @9 W 23
SR E S + s B SRR s s
VS E' S WeIa + He ‘B T ) e 26

(a) 2 (b) 1 \{9/ 0 d) 01

W value of 9sec? 60° - 9tan? 60° is 1

9sec? 60° - 9tan2 60° 7 TN 3’7

9sec? 60° - 9tan? 60°-93 T 2@

9sec? 60° - 9tan? 60° f wrT ST

2N 9sec? 60° - 9tan? 60° FT 7H B

2 @ b) 3 ) 18 @9

| % cubes each of volume 64 cm?3 are joined end to end. Then
| the surface area of the resulting cuboid is

azwwwmm@.ﬁ.ﬁﬁ@@wwv{camﬂmﬂww,

(SRTA (BIPRICOI “hIfeT 2’9
2fSfoq wes 64 ¥ (. ﬁ.ﬁﬁﬁzﬁmmmmmwmﬂww,w
kG IR R IE e
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FEER AR 64 TR Q. . TR A SRS S S BT
ST, 37seT BIMRAE AR g g gsemgiern S

T 64 TH Yo Mo I A A T F AW VR W FAM gA 71 A

gfome} 519 % Hdg 1 89%d 8
(a) 128 cm? (b} 176 cm?
(160 cm? (d) 192 cm?

SECTION—B / ¥—I¥l / ¥— / T—aTgr [/ T—Imen
13. Prove that 34/2 is irrational. 2
o1 41 (¥ 3+/2 ST |
21 FCA! (T 32 AT |
FrEE @™ & 342 @1 TAeEe |

o = R 34/2 safe |

14~ Find the 10th term of the following arithmetic progression : 2

w7 B TG AMOCER 109 “Weh! e 3
fiaTe SEd Aofefba 10 »mf fefa e
e EE wEe syt 107 TR g

Frerferfaa witwda sl o1 em g i fofg =
1l A W
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i ioini the points
\}Sﬁthe ratio in which the line segment JorEs P 2 14

(-3, 10) and (6, - 8) is divided by (-1, 6)-

(-1, 6) RPEOIA (=3, 10) ST (6, — 8) R el (T4 & SPITS S
3, fAefa z=n) .

(-1, 6) RS (-3, 10) % (6, - 8) R FKAM (R TS S T,
ey 3z |

(-1, 6) W (-3, 10) M (6, -8) B TWEAE TG GG
AERIERICRICIRCel

(-1, 6) 75 (=3, 10) iR (6, - 8) % T Y@ %1 o AW H T F@@T R,
Frola &)

16. Show that / (&1 @ / (s @ [ RFAR /) = =0 %

c0s38°cos52° - sin38°sin52° =0 2

17. In AABC, #B=90° and tanA=1. Then

show that
2sin AcosA =1.

AABCY /B=90° W& tanA=1, (o2 & @
2sin AcosA =1 ,

AABC-ad £B =90° 4R tan A =1, O (718 @ 2'sin Acos A = i
AABC i /B =90° 3Rl tan A =1, 3= R 2sinAcosA=1.

AABC &l LB=90°?rﬁttanA=l,H‘[Bﬂ'lﬁﬂﬁﬁﬁQsinAcosAzl

_GM/19A
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18. One card is drawn from a well-shuffled deck of 52 cards. Find
the probability of getting a spade.

OleTicd FIZCART 52 ObATe I AR SIbAfed 7[_1 Q" ©69e B ¢kl
3’5 | ObTSY T (TR W] ey 47 |

sEerR fiffe T 526 o A/ b S WA (A GFB ©P (G
(ST 27 | OFIGA 3FIP NSRSl e T |

e TARTIE J=d T 52 9@ faesRsm T 9@ e S|
T AAAE ST g |

i & A e gT 52 AT % T | T g e forn | 3% A % o
F e B it Wik g

cotA—-cosA _cosecA—l 5
cotA+cosA cosecA+1

19. Prove that

cotA—-CcosA _ cosecA-1

K 1) OIS WA =
cotA+cosA cosecA+1
cotA—cosA cosecA-1

I A =
2y cotA+cosA cosecA+1

tA-cosA cosecA-1
Hro @rem 7 2 =
cotA+cosA cosecA+1

cotA-cosA cosecA-1
cotA+cosA cosecA+1

T R b
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SECTION—C / A=l [ o= | T—argm [ I

20. Find the zeros of the quadratic polynomial x~ + Tx+ 10 and s
verify the relationship between the zeros and the coefficients.

X2 + 7+ 10 TS *FUHR I TS S 7 T S RO e
11 o R 70|

2+ 75410 it A AT (W T R R L R IRENETTA
T T AR

| x2+7x+10€rmﬁﬁ€ﬁ‘ﬁﬂfﬁﬁ?a@’qﬁt@ﬁ§?mﬂﬁ@’@mm
| W@Rﬁﬁmwmﬁzﬁ@mmt

| x2+7x+1omﬁm%v@ﬁwﬁﬂﬁﬁﬁmw%m
|| Ty yenfia |

Or / & / %31 / Tan / gt

| | Divide 2x2 +3x +1 by x+2.
1
‘ x+2 @2x2 +3x+1 3TN
| x4+ 2 %@ 2x2 +3x +1 (3 A |

or which values of a and b does the following pair of linear
equations have an infinite number of solutions?

o W® b3 T3 TR CFOS T @RS W (T S RGS T
i ?

q <@ b-<ad & TER CF@ Novd ARG ST (SIeH S -4 TN
R ?

3

ambﬁmﬂﬂﬁwn@mﬁ—a@m&m -

q 3% b #A-H AR % & ¥ fieg .
YA B e e A3 A I wer

(@-b)x+(@a+b)y=3a+b-2
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EZ/P/ind the roots of the following quadratic equation : 3
T RS SRFRECOR o1 Fefw 4
e TP~ gaEeEH Tere g ¢
Frafafea fama e =1 g@ fvl =0

2x2 —2-./§x+1=0

23. Find the value of k for the following quadratic equation, so that
it has two equal roots : 3

WWWW@WkQWW@m,WWF@TW@t
e famre =Rl cwa k-9 T @@ A, WS @F o T T =W ¢

e S Rt amEE ke fign e S| Gen e wHe
SR

f=feifaa femma wfiemo % fog k%1 7w fofla w0 Sea % e <A 9@
TOH 7

2x2 +kx+3=0

24. Find the sum of the first 24 terms of the list of numbers whose
nth term is given by a, =3+ 2n. 2

G AN OIfePR AT 2401 oI @I W T OI" new oWn
a, =3+2n.

qof6 W SRR g3 24 oA @ere BN S IW onew o
a, =3 +2n.

sAfmeRt fowhi fifs 24 foemeri s g smaft Afy fem

a, =3+2n.

T G I AllcTR 1 TAH 24 931 H ATha ol ) Ryt naw we @

ap, =3+2n.
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25. If the line segment XY is parallel to side AC of AABC ;gd it
s 3

divides the triangle in two parts of equal areas, then find B

I XY @4e AABC 3 AC T8 agAw T, 9 2 fagsoor M T

|

|

| A XB

| @u\%aﬂm,mﬁﬁﬁaW|

| I XY @ AABC-a3 AC Jed S =, @< «off fagee
! Wﬁw:mmﬂm,@m%ﬁ®m|
|
|

| %’%XYE@@T@IWAABCﬁACNT@TﬁQﬁ%ﬂm%ﬁTW@W@
? ﬁwwfwarﬂﬁ,m%@ﬁ@

| | 2R XY T@rEve AABC $ AC =1 1 g § o 7% Bye % e
N %maﬁa‘faﬁﬁﬁmm%,fﬁ%ﬁvfaw|

A the value of k if the points A (2, 3), B(4, kjand C (6, - 3) are

collinear. 3

i A2, 3), B(4, k) 5F C (6, - 3) Rah1 @I, (oc@ k3 T4 Fefy
4 |

I A2, 3), B(4 k) <% C(6, -3) Ruew «wdm =, o=ea k3 I
| fRefy ¢ |

g A2 3), B4 k) 3 C(6 -3) F=mem f-gi@enk wwwen, k f
e g |

TR A2 3) B@ k) I C (6, -3) forgl wriedm &, & k a1 w ok =1
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27/ Find the area of the shaded region in the given figure, where
3

ABCD is a square of side 14 cm :
o B ABCD <1 14 (z. . TRRAE 3o | T e e SR T

Tfereq -
N7 Bca ABCD @i 14 o R, aRRE 9o | Te B SRt SKeH

erEfy gETiEE ABCD o 9Ad 14 9. fi. SrErS T o | S e
T BT seRf Teesiy g -
fyeraq o & ABCD T& 14 ®o o oen-fafire =t 21 3 R § s

A B

SECTION—D / TRl / %=1 / g—aTen [/ g—InEn

M&é the following pair of equations by reducing them to a pair
of linear equations :
o ST (TR G ST o P A
S e (oI (R FRPACT TR T T ST
MR AR W T A g FHe FTEE AN AEGTE
ﬁgq :
e Tl % S ) AR TR ST A H
I 5

Sl e )

Xty x=y

4

R B

x+Yy X-Y
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Or / 1231 / §eY / oar / AT

The area of a rectangle gets reduced by 9 square units, if its
length is reduced by 5 units and breadth is increased by
3 units. If the length is increased by 3 units and breadth by

2 units, the area is increased by 67 square units. Find the
length and breadth of the rectangle.

@ﬁwtﬁmﬂﬁsawma«msawﬁwmw Gl
aaw%gaﬂawm@wﬁmmsawmamzuﬂw?ﬁ?
TR, SR I 67 3 G5 I 7 | Wiy o G9. 2w BT ! |

WWW@WWSWWWW&WSW
mm,mﬁﬁwﬁmgaﬁwvma@|gﬁéﬁm
3WWW2WW,WWM67@W&WI
Wwﬁmmmmﬁyl

ﬁ@m%mmﬁsmmaﬁtmsmqﬁﬁmm,ﬁ
sw%mgaﬁmm%’m%laﬁw%%dmsmaﬁxmm

2 wFF gy fr ST 67 T T Iy B B o 1 Ao i
e Forg

In an equilateral triangle ABC, D is a point on side BC, such
that BD = %BC. Prove that 9AD? = 742

ABC % fagert BC I3 71 D bl R wzs Bp - L ge o
SEC!

@ 9AD? =7AB?.

ABC T g BC T8 S D @3 5 as Bp - L pee o
= BC,

@ @ 9AD? =7AB2.
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MCWW@W@WDWBCH@%WMW

wﬁBD:%BcuqﬁwwﬁgApz _7AB2.

ABCWﬁgﬁmBCgm%WD@ﬁ%aﬁBDzéBC%I

@ F3 % 9AD? = 7AB?.

30. From a point on a bridge across a river, the angles of
depression of the banks on opposite sides of the river are 30°
and 45° respectively. If the bridge is at a height of 3 m from the

bank, find the width of the river.

Gy T SR A TR A9 51 Rev@ o1 a2 e T S
ofge (1 TAEFCH 20° W@ 45°| T 72 AR o[l 3 fioR Twers TR
e, (O3 s 2 e 4
wﬁaﬁa%mwmﬁwaﬁﬁicwaﬁaﬁﬁ%ﬁ@mm

m@mmmqnwsmmwswﬂﬁ?ﬁﬁ?zﬁ%mcwsﬁw
ST A, SrEcE e 2 e v |

@wmﬁmﬁﬁmwmq&m@wmsoo
m45°,aﬁ%mag'ﬁma1aiﬁaﬁmm3ﬁmw, areeT 2T TERE!
gl
@ﬁ%mmﬁa@w(@@)%wﬁgam%amaﬂra%
2TaHA B0 JATHA 30°ﬁn45°%|aﬁq5(ﬁ§)aﬁﬁmﬁésrﬁam
R &, @ 7 H <herd Fof

rom an external point T, two tangents TP and TQ are drawn to
a circle having its centre at O. Prove that ZPTQ =2/Z0PQ. 4

aﬁa&:ﬁﬁi‘awoWWW”WTPWTQWWWQ’W
o[l 9 (8 LPTQ = 2£0PQ.

s AR T (T O (FFW Jee I =°PF TP @3 TQ =% 41 X |
o1 T A LPTQ =220PQ.
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mﬁmﬁﬁ@Tﬁmoﬁsmﬁmﬁnﬁﬁqﬁaﬁ@TP IR TQ
Eﬁmmmlqﬁwm@mﬁzmozg4op@,

@W%Tﬁow—%wamwﬁnT@aﬁﬁﬁle
w4 #% 2PTQ = 2.20PO.

327 Construct a triangle similar to a given triangle ABC with its
sides equal to % of the corresponding sides of the triangle ABC.

(Write the steps of construction.) 4

b1 247e fage ABC 3 sipite <b1 fagw Wk qre 3R AR ABC
TSSO Sl TRCTRT 2 o T 2 | (SR 2 Bl 1)

<3 ome fape ABC A i1 «3f fags i wce @9 a=een ABC
mwﬁw@mg%*mwm| (SF NS (oI 1)

mmmﬁmwcﬁmw'mﬁimw@mm&q
mﬁ%ﬁwﬁmwcmm@mﬁﬁ@ﬁmﬁqﬁtﬁgwmﬁm

SR | (3R ST for )

wF fen mn s ABC % wgw wh Bys 1 3 F0 e s sqend
wcﬁw%wmgmwﬁi(mm%@r)

[ Contd.
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SECTION—E / &4l / &1 / $—amgrm [/ T—al

33. A hemisp}:erical tank full of water is emptied by a pipe at the
rate of 37 litres per second. How much time will it take to

empty half the tank, if it is 3 m in diameter?
ofS (RRYS B%ﬁmmﬁamaﬁqﬁoﬁuﬂxw (B!
ﬂﬁwa’alﬂﬁmwsﬁ.m,mmmmmﬁww
S AL 2
aﬁbmﬂmaﬁwﬁw&mmﬁmﬂs%ﬁmm
ﬂﬁwiawﬁaawsﬁ.@,wmmm@m%wwm
A ?
Wﬁ%@ms%%mgﬁﬁﬁﬁsﬁﬁ a@mﬁwuﬁ@@aﬁtﬁ
%%@aﬁiwmmlgﬁ@msﬁ.a@, e SheE TER A
GrATE ¥ T A
3%?ﬁagﬁﬁmﬁaémwmwﬁ@®w-ﬁméﬁﬁ
@Wﬁﬁmmﬁuwﬁéﬁmmsﬁa%,aﬁéﬁﬁmmmﬁ
Topa qug T

Or / A& / 9% / T / et

cm in diameter and of thickness

How many silver coins, 1:75
uboid of dimensions

2 mm, must be melted to form a ¢

5-5cm x 10 cm X 3-5cm?
x10@ . x35® . TR b1 e AR 1-75 = f.

opE o 2 ﬁ.wmﬂﬁzﬁo@{mwaﬁm
c.5ci. . x 10 6L R x 35 G A TR b FoE eR IO
1-75m.ﬁ.anmaaa<Qﬁ.ﬁ.Mmmwﬁmmgmmm?

Mo x 3-5 o Mo WA F T HWel HH F fan
fireh e e = TR wr-fffa g3 @
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" The following table shows the ages of the patients admitted .in a
hospital during a year. Find the mode and mean of the given
data. Compare and interpret the two measures of central
tendency :

RIS 3 BRI 5% @@ @i w2 wow oS Y6 27 | @
W@ﬁm@mwwmm%%w:m@@nmawww
S RN T4
O REA @3 BTy ¥ ey AN T Nevw SIfFRm o =4 |
CElO) Eron memwwm?waaamm@awuzﬁ I TR el
P GRS N TR
AERAE T Ie RIS g Rem Suferf S e
mﬁmm|ammm&awmmﬁyaq
R W fre Araiemf samd Yoy
T 9 % =T U Tufthearer # weff frd T Afr B Iy Frraq arferer %
quﬁﬁ@mwusam%mﬁﬁ&m}auﬁaamaﬂtmﬁ@aﬁlsq
ﬁ%ﬁamﬁmﬁawwﬁamﬁmw :

Age (in years) 5-15 | 15-25 | 25-35 | 3545 45-55 | 55-65

TP (IR)

T (ITTM)

dar (FrRE)

g (3 #)

Number of patients 6 11 21 23 14 5

AR Fezm

MR Fem

A 37f3my

Wit ) we e

* % %
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